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30. Quale termine non può essere 
anagrammato? 
A. Litri 
B. Cane 
C. Conta 

 
31. Quale termine non può essere 

anagrammato? 
A. Gesso 
B. Lavato 
C. Leva 

 
32. Quale termine non può essere 

anagrammato? 
A. Stereo 
B. Lama 
C. Chiodo 

 
33. Quale termine non può essere 

anagrammato? 
A. Amor 
B. Pinza 
C. Ramo 

 
34. Quale termine non può essere 

anagrammato? 
A. Aereo 
B. Bianca 
C. Diesel 

 
35. Quale termine non può essere 

anagrammato? 
A. Donna 
B. Penne 
C. Capra 

 
36. Quale termine non può essere 

anagrammato? 
A. Redimi 
B. Bullo 
C. Carcere 

 
37. Quale termine non può essere 

anagrammato? 
A. Tali 
B. Netto 
C. Fulmine 

38. Quale termine non può essere 
anagrammato? 
A. Canoro 
B. Pulce 
C. Sale 

 
39. Quale termine non può essere 

anagrammato? 
A. Donzella 
B. Mela 
C. Nota 

 
40. Quale termine non può essere 

anagrammato? 
A. Leva 
B. Matte 
C. Frolla 

 
41. Quale termine non può essere 

anagrammato? 
A. Acqua 
B. Esca 
C. Acne 

 
42. Quale termine non può essere 

anagrammato? 
A. Case 
B. Pizza 
C. Favola 

 
43. Quale termine non può essere 

anagrammato? 
A. Occhio 
B. Orma 
C. Pineta 

 
44. Quale termine non può essere 

anagrammato? 
A. Carne 
B. Lame 
C. Quattro 

 
45. Quale termine non può essere 

anagrammato? 
A. Arista 
B. Donna 
C. Tifoso 




